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Aufgabe 1

Berechne.

a) 696− 70 b) 631− 20 c) 699− 40 d) 484− 70
e) 583− 80 f) 591− 70 g) 168− 50 h) 648− 30
i) 697− 90 j) 567− 30

Aufgabe 2

Berechne.

a) 787− 500 b) 615− 200 c) 402− 300 d) 343− 200
e) 481− 300 f) 546− 100 g) 661− 400 h) 502− 200
i) 863− 600 j) 348− 200

Aufgabe 3

Berechne.

a) 8900− 800 b) 8200− 200 c) 7800− 500 d) 9800− 600
e) 4700− 600 f) 8800− 800 g) 9900− 400 h) 3600− 200
i) 4900− 600 j) 5800− 600

Aufgabe 4

Berechne.

a) 87900− 800 b) 70600− 500 c) 98200− 100
d) 86900− 900 e) 76900− 700 f) 56300− 300
g) 58700− 700 h) 62700− 500 i) 68700− 700
j) 62800− 600

Viel Erfolg!
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